i‘% P4 AABC =
BD=BC Y o, zx 9] 3

@D 36° @ 40°

717

B 44°

@ 46°

B 30°



2. & a"oA A 07 aABC Q] A olgta & ufj, ,OBC = 48°
oltt, /x9] A7|=?

A

X

@D 40° @) 49° 3) 44° @ 46° (B) 48°



A 17F A, 2 = (

e




oS I8 oA AABC = AB = CB, CA = CP o]1, /A = 66° ¥
o, zx ©] 2712

A

Q

66°

@D 16° ? 18° A 20° @ 929° B 24°



D
A C

Aut
%4 DA,
£ #sfol

EAH D, E oA Z¢
W2 o, oABED 9] Y o]

CIIl2



H 1= AABC 9 WAHolth. AB =
14cm, AC = 10cm, ﬁ//@%} o,
AADE ©] 89| Zo|& atofet,




7.

B ol7F60 cm? 9 B

e

HPAH Y ABCD of| A o] F

A D

P,




oS a2k Zrol LA = 90° ¢ AABC
oAl BD & /B 9] o]5&Ao]i BC =
20cm, AD = 6cm € w, ADBC 2] Y]

=7

@ 50cm? @ 52cm?

@ 60cm?2 B 64 cm?

A\
6\cm
D
B& —C
T~-20cm--~
® 58cm?



o2 199 FPAHE ABCD oA DF
= /ADE 9] 9] Aolil ,C = 110° 9]
t}. AB = AE € o, /CDE 2] 327|& 5}
ot

oll‘l o?%

A}
=

 E: i
-



10.

HPAIHE ABCD 9|4 ,ADE = /CDE ¥ W], BE 9] Zo]&?

A _--llem-_ D

/ (]
/
8cm
1
|
\

B E C

@D 3cm ® 4cm ® 5cm @ 6cm B 7cm



